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ALGEBRA

. The solution set of x2 =4 is

A {2,4)

B. {-2,2)
C. {-2,4)
D. {-4,4}

3+x+x isequal to

A. S5x
B. 3x2
C. 3+2x
D 34 x2
y.3 -
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A 23
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B. v+3
4
3
c. X
2
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4
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4. Calculate the value of > (3n+2)

n=l1



5. Solve ‘x —2| = 5

7. Solve the inequality 5 —3x <8

8. Expand and simplify (5x—2)-3(x—5)

Hint: Use Distributive Property .Note only like terms can be added or
subtracted
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1 1Yy2 =2
9. Evaluate
3 400 6

10. Matrix M (9 1) Hint: Formula
. Matrix M =
-1 -1
1. Determinant: |P|=ad — bc
(1) What is the order of M? 2. Inverse:
(11)  Calculate its determinant. 1 d

(111))  Find its multiplicative inverse.

(iv)  Evaluate 2M
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11. An arithmetic sequence has 2*! term = 10 and common difference =2.

12.

(1)
(11)

A geometric sequence 1s givenas 1.5, 25 125, .

(1)
(11)
(iii)

Find the first term.

What 15 the sum of the first 20 terms?

Calculate the comumon ratio.
Find the 9 term.

What 15 the sum of the first 10 terms?

THE END
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Hint: Formula

Arithmetic Sequence

1 Tn =a+(n—-1)d

2.8 = %[Za +(n—1)d]

N

Hint: Formula

Geometric Seguence

1. T :ur”_]
"
: (1-r7)
R - -
n 1—#

N



